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(a) T2tt: pp → t̃1 t̃1 → t(∗)χ̃0
1t (∗)χ̃0
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(b) T2bW: pp → t̃1 t̃1 → bχ̃+
1 b χ̃−1
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(c) T2tb: pp→ t̃1 t̃1 → t χ̃0
1bχ̃+

1

(d) T2ttC: pp → t̃1 t̃1
→ t∗χ̃0

1t∗χ̃0
1 → bff̄′χ̃0

1bff̄′χ̃0
1

(e) T2bWC: pp → t̃1 t̃1

→ bχ̃+
1 b χ̃−1 → b∗+χ̃0
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(f) T2cc: pp → t̃1 t̃1 → c χ̃0
1cχ̃0
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